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Consider the following statements :

Statement-I :

The atmosphere iz heited more by ircoming
anlar radintion than by terrestrial radintion.
Statemant-IT -

Carbon dioxide nnd other greonhoust gases in
the atmosphere are good nbsorbers of long
wave ridintion:

Which one of the following is carrect in

reapect of the above statemonts 2

{a) Both Statement-l and Statement-1l ure
correet  and  Statement-ll  explains
Statement-1

ib) Both Statement-1 and Statement-11 are
correet,  but  Statement-I1  does  mot
explain Statement-1

lel Statement-] s correct, but Statement-11
is incorroct

id) Statoment<l is incorrect: but Statement-11
is correct

Consider the following statements ;

Statement-| :
Thickness of the tropasphere at the equator is
mueh groater is compured 10 poles.

Statement-I1 :
At the squator, heat is transported to great
heights by strong convectional currents.

Which one of the following is correct in
respect of the above statemunts ?

fn} Both Statement-1 and Statement-11 are
correct  and  Statement-]1  explains
Statemont-|

(bl Both Statement-1 and Statement-11 are
ovorrect, but  Ststament-TT  does  mot
explnin Statement-1

(¢} Statément-l s correct, but Statement-11
i Incarrect '

(d) Statemont-l is incorrect, but Statement-11
i correct

3

(3-A)

Consider the following :

1.  Pyroclastic debris

2, Ashand dust

3.  Nitrogen compounds

4.  Bulphur compeounds

How many of the above mre products of
valeanie eruptions 7

(al Only one

(bl Omly two

el Only three

(d) Al four

Which of the [ollowing isfare correct

inferencafinferénces from isothermal mups in
the month of January ?

1.  'The isotherms deviate to the north over
the ocean and to the south over the
continent.

2. The pressnee of cold oceon currents,
Gulf Stream and North Atlantie Drift
make the North Atlantic Ocenn colder
and the isotherms bend towards the
north.

Seleet the answer uging the code given below
(il 1only

by 2oenly

(c) Both1 mnd 2

(d} Neithor 1 gor 2

Which of the following countries are well
kennwn ns the two lavgest cocon producers in
the world ?

(a) Algenas and Morocco

(b)  Botswana and Namibia

ic)  Cote dTvoire and Ghana

id)  Madagascar and Mozambique
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B, With reference to the Himalayan rvers
joining the Ganga downstream of Prayagraj
from West to East, which one of the following
sequences is correct 7
(n)  Ghaghara - Gomati — Gundak — Kosi
(b Gomati — Ghaghara ~ Gandak — Kosi
lc)  Ghaghara - Gomati — Kogi — Gandnk
(d)  Gomati - Ghaghnra - Kosi — Gandak

7.  Consider the following statements :
Statement-] :

Rainfall is one of the reasons for weathering

of rocks,

Seatement-Il =

Rain water contuing éarbon  dioxide in

solution,

Statement-1H ;

Ruin water containg atmospheric gxygen.

Which ono of the following is correqt in

respect of the above statements ?

(a) Both Statement-il and Statemont-111
amm correct and both of them explain
Statement-1

(ki Both Stutement-Il and Statement-TIT
are correct, but only one of them
explaims Statement-1

ic) Only onp of the Statements I and TIT is
correct and that explains Statomient-1

{di  Neither Statement-H nor Statement-111
i& corroect

8. Consider the ollowing comntries
1. PFinland
4 Germany
3. Norway
4.  HRussin
How mnny of the sbove countries have s
brder with the North Soa 7
inl  Onlyone
(b}  Omly two
{ed  Omly three
€ Al four

KSPC-P-GSPO
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Congider the following informntion :
Waterfall Region | River

1. |Dhuandhar |Malwa |Narmada

2. |Hundry Chota  |Subarnarekha
Nagpur

4. | Gerdoppo Westarn | Netravati
Ghnts

In how many of the above rows is the given

information correctly matched 7

ia)  Only one

(b)  Only two

ic)  All three

{d) None

Consider the following information :

Region  |Nameof the |Typeof
mountoin mounioin
Fenge
1. |Central | Vi Fuild mountain
Asia
2. |Europe |[Alps Block
mountain
3. | North Appdlachians | Fold mountain
Amaorica
4. |Bouth Andes Fold mountain;
Americh
In how many of the above rows is the given
information correctly matchad 7
(o) Only one
i)y Only two
te)  Only three
(i  All four
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Consider the following nirports

1. Donyi Polo Airport

9,  Kushinagar International Alrport

3. Vijayawada Internationnl Airport

In the recent past, which of the above have
boen constructed ns Greenfield projects?

(#) 1and2only

(b) 2and3only

(¢} 1and3only

(dd L 2andd

With reference to “water vapour”, which of the
following statements isfare correct 7

1. It i# a gas, the amount of which

2. = percentage i maximum at the poles.
Saleet the answar using the eode given below :
(n)  1lonly

fhi 2omly

fe) Both ) and2

{d} Neither 1 nor 2

Consider the following description :
1.  Agnnual and daily range of temperatures
I Tow.
2. Precipitation ocours throughout the year,
3. Previpitation varies between
50 cm — 250 cm.
Whint is thie type of climate ?
ta)  Eguatorial climate
(b
() Humid subtropical climate

{d)

China type cimate

Marine West const elimnte

14,

15.

16.

(T-A)

With referende to *Corioliz force”, which of the

following statements iwfare correct 7

1. 1t ingrepses with increase in wind veloeity.

2, It iz maximum at the poles and is absent
&t the equator,

Select the answer using the code given below :

(n) 1aonly

(b} 2only

(e} Both1and2

idy Neither 1 nor 2

On June 21 every year, which of the following
latitudels) experience(s) a sunlight of mare
than 12 hours ?

1. Equator

2. Tropic of Cancer

8  Tropic of Capricorn

4  Arctic Circle

Select the carrect answer using the code given
below :

(n)  lonly
) 2only
(ed Fandd
d) 2andd

One of the following regions has the world's
largest tropical peatland, which holds about
three years worth of global carbon emissions
from fossil fuels; and the possible destruction
of which ean exert detrimental effect on the
global climate. Which one of the following
denotes Lhat region 7

(0] Amnion Basin

(h) Congo Basin
(e} Kikori Basin
(d) Riodnla Plata Basin
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17.

With  reference to  perfluorvillyl  and

polyfiuoroalkyl substances (PFAS) that are

used in making many consumer produocts,

consider the following statements :

1. PPAS are found to be widespread in
dritiking water, food and food peclaging

materials:

2. PFAS are not easily degraded in the
environment.

3.  Persistent exposure to PFAS can lead to
hlpaceumuylation in animnl bodies.

Which of the statements given above are
corrent ?

(n) 1and?2 only
() 2and 3 only
(¢ 1and3only
(d} 1,2and3
18. Consider the following :
1.  Carnbid beetles
2 Contipedes
4. Flies
4 Tormites
B Wasps
Parssitoid species nre found in how many of
the above kind of organisms *
(a) Onlytwo
(b) Omly three
(e} Omly four
(d) All ive
KSPC-P-GSPO

18,

20.

(8-A)

Consider the following plants :
1. Groundnut

2. Horse-gram

3. Soybean

How many of the above belong to the pes
family ?

Only one
Only two

None

(a)
th)
(e)
(d)

Comsider the follawing statements :

Stafement-I :

The Indian Flying Fox is placed under the
“vermin” cntegory in the Wild Life
iProtection) Act, 1972,

Statement-fI ;

The Indian Flying Fox feeds on the blood of
othes animals.

Which one of the following is correct in
respect of the above statements ?

{n) Both Statement-I and Statement-Il are
correct  and  Statement-ll  explains
Stutement-1

Both Statement-1 and Statement-Il are
correct, but Statement-I1  does’ not
explain Statement-1

{h)

Statoment-1 I8 correct, but Statement-T1
s intorrest

el

id} Statement-!is incorrect, but Statement-1I

is correct
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The arganisms “Cicadn, Froghopper and Pond
slcator” nre :

(a) Birds

(b1 Fish

(e) Insecis

(d) Roptiles

Consider the following statements :

Statemont- ; _

Many chowing gums found in the market are

onsidered n  source of environmental

pollution.

Statement-II :

Many chewing gums contain plastic s gum

base,

Which one of the following ix correct in

respect of the ahove statements 7

{a) Both Statement-1 and Statement-I1 are
correet  and  Statement-I1 axplntm
Statoment-I

b Both Statemont-1 and Smtement-f1 are
eoeret, but Statement-11 does not explain
Statement-1

lg) Bratement.] is correct, but Statement-11 is
incorrect

id) Statement-1 is incorrect, but Statement-11
iz eorrect

Congider the following pairs :

Animal found in its

Ciiftey naturdl habitat

1. |Brazil Indri

2. |Indonesia Elk

4, | Mndugnscur Boanoho

How many of the pairs given above aro
correctly matched ?

(a) Only one

(b} Only two

() All three

(d) ‘Nune

(11 =-A]

Consider the following statmments reganding

World Toilet Organization ;
1. It is one of the agencies of the United
Nations.

2. World Tollet Summit, World Toilet Day
and World Toilet College are the
initintives of this organization, o
inspire action to tackle the global

3. 'Themainfocus of its function is to grant
funds to the least developed countries
and developing countries to achieve the
end of open defecation.

Which of the statements given shove isfare
torrect ¥

ja) Z2only

(bl 3Jenly

e} TondZ

(dl 2und3

Consider the following statements

1.  Lions do not have & particular breeding
soashn.

2. Unlike most other big cats, cheetahs do
not roar.

3. Unlike male lions, male leopards do not
marking,

Which of the statements given nbove are
eorreet ?

inl landZ2only

(by 2and3 only

(e} 1and3only

d 1,2andd



KSPC-P-GSPO

26, facfafas § 3 *fwa “oo femm femmt”

=1 Wil fagor & o

(w) AR I (FR), THREmOSE w@w
AR Fw wwTeR W1 W WA W A
% % fon v w= 8 e s feard
=1 e § 12 w5 |

(b ue I e & fFew ) amam 23
U W W ° =S e o s
WA W OUE Jeat @i vE Sy
= g |

(e} R us Taflee =wm 2 51 ¢t 7 R
®a1 WSl & @M wEFs ? ain
=it-aq T ffdm R, 1 o, fadarst
s At 9w oA e e w
Fatl 1 =W FE 6 g e wm
g1

(d) uE vE 7= R Fmw on e o g
IR WA A FHEEEE g9
% fou wiefen =om b, Gl 34 =%
sl w1 A % fom S a@ s
i ufa wra s gfa fend |

f mmﬁlﬂw:

1. ¥ s

2,  WHMWE FFHE

3. 95 8

4. FHe HN WEEATTLW T
a7 f “Faafor 3t s T AR
£

(n) W U

() e Al

(e} “ae AW

d) #t=R

{12-A)

28, To=fafes 4 3 #m 99, v 0@ A & T

% A T W W R AW W s "
we-fawfim o & ol g v e f S w
U2 F W a8 0

(a) AR
i) R
() A
) #a (foes wiew)

. Fafafies w e Hifa

1. fome

2. AR

3. wEH (=)

39 # B firet 4 T anfaal ¥ 2
(a) EE TR

(b) ae 2

(ch H‘ﬁ'?ﬁﬂ

(d) wid

. ﬁﬂﬁﬁﬁﬂmﬁﬁq

L i

2. 9

3. T S

Twda & e g enem @ any & 39 gy
k2

tn) ai'ﬂf?rﬂ

(b) A

(c) #ot A=

(d) i



26. Which one of the follvwing is the correct | 28. Which one of the following shows a unique

diseription of 1100 Million Farmers™ ? relationship with an insect that has coevolved
transition townrds food and water pollinate this tree ?
systems thal dre mneteero (earbon), (w) Fig
nature-positive  mnd  that aims  to
1 i eiili (b}  Mnohun
() It in an internations) alliance and # (¢} ~ Sandalwoed

petwark of individoals and farmiog (d)  Silk cotton
organisations interested in supporting
and strengthening the development of
the organic animal husbandry. 9. Consider the following :
() It ia o digital platform fully integrated

. 1.  Butterflies
with service providers and built on
hloekchaiti thut lets buyers, sellers and 2. Fish
third parties trade fertilizers quickly 3. Frogs

and soeuraly,

. _ How many of the above have poisonpus

(d) It is a platform with the mission of species among them 7

encouraging the furmers to form Farmer _

St € . e Tt ta) Only one
Consortinms, thus facilitating the (b Only two
nccess Lo to sell

. 'prndi?ﬂ open marknts () Al thives

(di Nono

27. Consider the following :

1. Battery storage 30, Considor the following :

2.  Biomass generators 1.  Cashew

3.  Fuel cells 2, Papuyn

4. Rooftop dolur photovoltaic units 8. Red sandirs

How meny of the above am considered How many of the sbove trees are: actually
“Distributed Energy Resources™? native to India ¥

f0)  Only one () Only one

tb) Only two iby Only two

{e)  Only three (¢} Al these

(d) Al four (d) None

KSPC-P-GSPO (13-A)
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81. With reference to radicisotope thermoelectric

generntars  (RTGs), consider the following
stataments

& RTGs nre miniature fission renctors,

2. RTGs are uged for powering the onboard
systems of spacecrafts.

4, RTGs can use Plutonium-238, which is
a by-produet of wespons dovelopment.

Which of the statements given above are

earrect 7

{2) 1and2only

b} 2 and 5 only

(el 1 and3donly

fd) L2and3

Considor the following statements :

Statemnent-I :
Glant stars live much longer than dwarf stars.

Statement Il :
Compared to dwarf stars, giant stars have a
greater rate of nuclear reactions.

Which one of the following is correct in

respect of the above statements 7

{a) Both Statement-1 and Statement-Il are
corrpet and  Statement-Il  explains
Statement-]

(b) Both Statement-l and Statement-Il are
correct, but Statement-Il does  net
explain Statement-1

{c) Statement-l is eorrect, but Statement-I1
ik Ineorroct

id) Statement-I is incorrect, but Statement-11
i correct

{15-A)

33, Which one of the following is gynthesised in

humnn body that dilates blood vessals and
increases biood flow 7

(a)  Nitric oxide

(h) Nitrous oxide

(e} Nitrogen dioxide
(d)  Nitrogen pentoxide

Coniider th Billowiig activities::
1. Identification of narcotics on passengers
ut airports or in aireraft

2.  Monitoring of precipitation
3. Tracking the migration of animals

In how many of the above activities can the
radars be used ?

{a) Only one

(b) Only two

(e)  All three

(d) None

Cansider the following nircraft :
1.  Rafael

2.  MiG-29

3 Tajns MK-1

How many of the shove are considersd fifth
genurntion fighter aireraft ?

{n) Cmnly one

(b) Only two

(c) All three

ldy  Nonw
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In whith of the following are hydrogels used ?
1. Coitralled drug delivery in patierts

2 Mabile sir-conditioning systems

3. Preparation of industrial lubricants
Select the correct answer using the code given
below

(s} Vonly

tb) 1 and 2only

(e} 2and3only

dy 1,2a8nd3

“Which one of the following is the exhaust pipe

emission from Fuel Cell Eleetric Vehicles,
powered by hydrogen ?

a) Hydrogen peroxide

(b} Hydroniam

(el Oxygoen

idi Water vapour

Recently, the term  “pumped-storoge
hydropower™ is actually and appropriately
diseussed in the context of which one of the

following ?

(al lerigation of terraced crop fields

(b) 'Lift irrigation of cereal crdps

(¢) Long duration energy storage

(di  Rainwater harvesting system
“Mombrane Biorenctors™ are often discussed
inthe context of

(n) Assisted reproductive technologies
fb)  Drug délivery nanotechnologios

() Vioecine production technologies

(d)  Wastewater treatment technologies

With reference to the Indian  economy,
“Collateral Borrowing and  Lending
Ohligations” are the instruments of :

(a) Bond markst
(b} Forex market
(e} Money market
(d} Stock market

(17 =A)

41. The tetal fertility rate in an economy is

defined as -

(a)  the number of children born per 1000
poople in the population in p year.

(b}  the number of children born to # couple
in their lifetime in a given population.

el the birth rate minus death rate.

(d) the average number of live births =
woman would have by the end of her
cliild-bearing nge.

Consider the following statements .

1. In India, Non-Banking Finanpeinl
Companies eun seeess the Ligudity
Adjustment  Facility window of the
Reserve Bank of India.

2, In Indin, Foreign Institutional Investors
enn hold the Government Securities
(G-Secs),

3. In Iodin, Stock Exchanges can offer
separnte trading platforms for debts.

Which of the statements given shove isfare
eorrect' 7

(n)  Lland 2only
th)  Bonly
) 1,2und3

id] 2ond3only
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43. Wi #, Fefefes 9 & S sz ave s
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L e st

2.t B
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(18-A)
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43, In India, which of the following can trade in | 45. With reference to the sectors of the Indian
Corporate Bonds and Government Securities ! economy, cotisider the following puis :
1. Insurance Companies Eetnpmic aedivity Saetor
1. | Starage of ngricultural | Secondary
2 Pension Funds produce
3 Retail Investors e Erimary
Seleut the correct answer using the code given 3. | Mineral exploration Tertiary
below : 4. | Wenving cloth Secondary
{n} 1andZ2anly How many of the pairs given above are
correctly matched ?
2and 3
& o fn! Onlyane
(& aad¥oaly ) Onlytwo
{di 1,2and3 fel  Only three
(d} Al four
44. Consider the following 46. Consider the following materials
L. Exchange-Traded Funds (ETF) 1. Agriculiyral residues
2. Corngrain

2. Motor vehicles
3, Wastewater troatment sludye
4. Cuorrency swap
4. Wood mill waste:
Which of the above cun be used as feedstock

g fat producing Sustuinuble Avintion Fuel 7
ol Ry tn) 1nand 2only

(b  2uand 3 only )  8and 4 only

) LZandd ¢t L2Z23and4

(d) 1and 3only @y 1,3and4only

KSPC-P.GSPO (19-A)
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47. With reference to physical capital in Indian

economy, tansider the following pairs ;
Teeme Cuatogory
1. | Farmer's plough Working eapital
2. |Computer Fixed capital
4, |Yarnpsed by the | Fixed capital
weaver

4. |Petrol Working cupital
How many of the showve pairs are correctly
muotchid ?
(n)  Oaly one
{b) Only two
(¢} Only three
(d) Al four

48, Which one of the fllowing worde/phrases is
most appropristely used to denote “an
interoperahle network of 8D virtual worlds
that con be aicessed simultancously by
millions of users, who can exert property
rights over virtual items" ?
{u)  Big data enalyties:
(h)  Cryptography
{e) Metaverse
(d)  Virtunl matrix

KSPC-P-GSPO

48,

(21-A)

With reference to the rule/rules imposed by

the Reserve Bank of India while treating

foreign  bhanks, consider the following

statements |

1. ‘There is no minimum capital
roquirement for wholly owned banking
subgsidiaries in India

2. For wholly owned banking subsidiaries
in Indin, at least 50% of the board
members should be Indian nationnls.

Which of the statements given nbove isfare
correct ?

{a) 1 only
(b) Z2only
ic) Both iond2

(d) ‘Neither 1 oor2

With reference to  Corporste  Social
Responsibility (CSR) rules in India, consider
the following stntements :

1. CSR rules specify that expenditures
that henefit the company directly or its
employees will not be considered ns CSR
notivities.

2. (SR rules do npt specify minimum
spending on CSR activities.

Which of the statements given above isfare

oormect 7

(a) lonly

(bl 2only

(¢ Bothland2

(dl  Neither 1 nor 2
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51 Consider the fbllowing statements !

Staterment-l :

1f the United States of America (USA) wore (o
default on its debt, holders of US Treasury
Bonds will not be able to éxercisd their claims
to receive payment.

Settermint-II ;
The USA Government debt is not backed by
any hard assots, but only by the frith of the
Gavernment.

Which one of the following is correct in

respect of the above statements ”

(n) Both Statement-1 and Statement-I1 are
correct  and  Statement-ll  explains
Statemont-1

(b} Both Statement-l and Statoment-1l are
correct, but Statemant-11 does not explain
Statement-

(¢) Statement-1 iz correct, but Statement-11 ie
incorrect

(d) Statement-l is incorrect, but Statement-11
i= porrect

Consider the fbllowing statemenis :

Statement-I ;
Syndicated lending spreads the risk of
barrewer default across multiple lenders.

Statement-II :

The syndicated loan can be n  fixed
amount/lump sum of funds, but cannot be a
credit Hne,

Whiehmg_nfthnﬁﬂhwingiammdin
respect of the above statoments ¥

{a) Both Statement-l and Statement-l11 ore
correct  #nd  Statement-1l' explains
Statement-1

(b) Both Statement-1 and Statament-I1 are
correct, but Statement-ll  does  naot
explain Statement-1

(¢} Statement-T 8 correct, but Stutement-11
i5s ineorrect

(d) Statement-1 is incorrect, but Statement-T1
is correct

(23-A)

53. Consider the following statements in respect

of the digital rupee :

1. It is a sovercign currency issued by the
Reserve Bank of India (RBD in
alignment with its monetary policy.

2. It appears as a liability on the RBI's
balance sheet.

3. It is insured against inflation by its very
design.

4 It s freely convertible against
commercial hank money and cash.
Which of the statements given pbove are

correct ?

() 1and 2only
(b) 1 and 3only
fc) 2and4only
(d) 1,2and4

With reference to anoent Indin, Geutama
Buddhn was generally known by which of the
following epithets ?

1. Nayaputta

2 Shakyamuni

3. Tathagnia

Select the corréot answer using the code given
baliow @

(n} lonly

(b)) 2 und 3 unly

¢ L2wsnd3d

id) None of the asbove are epithets of
Gautama Buddha
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55. Consider the following information ;

Archoeologieal | Stafe Description
Site
.| Chandraketugarh | Odisha Trading
Port town
Inamgaon Maharashtra Chilenlithis
site
.| Mungadu Kerala Megalithic
st
.| Salihundam Andhirn Rock-rut
ghrines

KSPC-P-GSPO

In which of the above rows is the given

information correctly matched 7
(a) Tand2
(b} Zand3
(¢} Jondd
(d) landd

Who of the following rulers of medieval India
gave permission to the Portuguese to build a
fort at Bhatleal ?

i) Krshoadevarayn
() Narassimha Saluva
el  Muhammad Shati 111

(d) Yusuf Adil Shah

57,

(25-A)

With reference o revenue collection by
Cornwallis, consider  the fallowing
statomunts

1. Under the Ryotwari Settlement of
revenue colléction, the peaxants wore
mmpﬁtl from revenus peyment in cass
af bad harvests or natural enlemities,

2, Under the Pérmanent Settlement in
Bengil, if the Zamindar failed to pay his
rovenues to the state, on or before the

fixed date, he would be removed from
Hike Zamindari,

Which of the siatemonts given ubove iafare
correct 7

1 only:
(h) 2only

(n)

(¢} Bothland2

(d} Neither 1 nor 2

Consider the following statements :
1. 'There are no parables in Upanishads.

2. Upanishads were composed earlior than
the Purinns.

Which of the statements given above ia/are
correct 7

fn] 1oy
2 anly
(¢) Both land2

(b)

{dl Neither 1 nor 2
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Consider the following statements :

1,  Indin I8 & member of the Internntional
Grains Council.

2 A country needs o be a member of the
Internationsl  Grains Coanedl  for

exporting or importing rice and wheat.

Which of the statements given above iwfare
correct ?

{a) 1only

()  Zonly

e} Both1land?2

idy Neither 1 nor 2

Which one of the following was the latest
inclusion in the Intangible Cultural Heritage
List of UNESCO ?

{n) Chhau danee

(bl  Durga pujn

Garba dance

ich

{d) Kumbh mela

6l.

(27-A)

Who was the Provisional President of the
Constituent  Assembly before Dr. Rajendra
Prasad took over ?

in) €. Rajagopalachari

(k) Dr.B.R. Ambedkar

{e} T.T. Krishnamachari

td)  Pr. Sachchidananda Sinha

With reference to the Government of Indis

Act, 1935, considor the following statements :

1. It provided for the establishment of an
All Indis Federation based on the union
of the British Indian Provinees and
Princely Statos.

2. Defence and Foreign Affairs were kept

under the control of the federal
legislnture.

Which of the stutements given shove is/are
correct 7

(m) 1 only

(b)Y 2only

ic! Both1liind?2

{d) Neither 1 nor 2

Which one of the following is a wark
attributed to playwright Bhasa ?

(a) Kavynlankara

{by Natyarhastro

fer  Modhyama-uyayoga

{d} Mahabhashyn

Sanghabhuti, an Indian Buddhist monk, who
travelled t0 Chine ot the end of the
fourth cvntury AD, was the author of a
commentary on :

{a) Prajnoparamita Sttra
(b)  Visuddhimagga

(e} Sarvastivada Vinaye
(d) Lalitavistara
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5. Consider the Mllowing properties included

in the World Heritage List released by
UNESCO :

1.  Shantiniketan

2. Rani-ki-Vav

4.  Sacred Ensembles of the Hoysalas

4.  Mahabodhi Temple Complex at
Bodhguya

How many of the above properties were
intluded in 2023 7

{al  Only one:
ib)  Only two
ie) Only thres
(d) Al four

As por Article 368 of the Constitution of India,
the Parlisment may amend any provision of

the Constitution by way of =
1. Addition

2. Variation

3. Repenl

Select the ¢orrect answer using the code given
below :

ia) 1and2only
(b 2and3only
te) 1 and 3 only

(di  1.2and3

(20-A)

Consider the following countries :

1. lwaly

2. Jepan

3. Nigeria

4.  South Korea
5. South Africa

Which of the above countries are frequently

mentioned in the media for their low birth
rates, or ageing population or declining

populatian ?
fa) 1,2nndd
by 1, 3'omd b

{e)  2and 4 only

idy 3andbHonly

Which of the following statements are correct
in respect of a Money Bill in the Parliament ?

1. Article 1089 mentions special procedure
in respect of Money Bills,

2 A Money Bill shail not be introduced in
the Couneil of States.

4.  The Rajys Sabhn can sither approve the
Bill or suggest changes but cannot reject

it.

4  Amondments to a Money Bill suggested
by the Rajya Sabha have to be accepted
by the Lok Sakha,

Select the answer using the code given below :
(a) 1and2enly

(b} 2and3only

e 1,2and3

id) 1,3 and4
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Which of the fllowing isfare correctly
matched in terms of equivalent rank in the
three sorvites of Indian Defence forces 7

Armny Airforce Nauy
1. |Brigadier |Air Commander
Commuodore
Z. | Major Air Viee Vioe Adoural
Gemernl Marshal
3. | Major Squadron | Lieutenant
. Leader Commandoer
4. | Lieptenant | Group Captain
Colonel Captain

Select the correct angwer using the code given
below

1and 4
1nnd 3
2,3and 4
3 only

{a)
(b)
le)
(d)

The North Eastern Counegil (NEC) was
establiched by the North Esstern Couteil Act,
1871, Subsequent to the amendment of NEC
Ast in 2002, the Council comprises which of
the following members ?

1.  Governor of the Constituent State

2.  Chief Minister of the Constituent State

3. Three Moambers to be nonsinnted by the
President of Indin

4.  The Home Ministor of India

Select the correct snswer using the code given
balow :

1, 2 and 3 only
1, 3 and 4 only
2 and 4 only
L2 3and4

Lay
(hy
ic)
{dy

(5

73,

(31-A)

How many Delimitation Commissions have
been constituted by the Government of India
till Decomber 2023 7

(al COmoe
by Two
(e} Thres
(d) Four

The Constitution (71" Amendment) Act, 1992
amends the Eighth Schedule to the
Constitution to indlude whiell of the lollowing
languages ?

L. Konkani
2.  Manipuri
4, Nepali

4. Maithili

Select the correct answer using the code given
below ;

fa) 1,2and3

(b} 1.2nnd4

(¢} 1, 8andd

(d) 2,3and4

Cansider the following pairs :
Purty Ita Levder

1. | Bharatiya Jann | Dr, Shynma Prasad
Enugh :Mllkhﬂ.ﬂ:ﬂ

4, | Bocialist Party C. Rajagopalachari

4. |Cangress for Jaggivan Ram
Democracy

4. |Swatantrs Party | Achuryn Narendea

Duv

How mnny of the asbove are correctly

mintihed 7

i) Only one

(b)  Only two

(e} Onlythrse

tdl Al four
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74.  Which of the following statementa are correct
pbiout the Constltution of India ?

1.  Powers of the Municipalities are given
in Part IX A of the Constitution.

2. Emergency provisions aore given in
Part XV of the Constitution.

3  Provizsions related to the amendment of
the Constitution are given in Part XX of
the Constitution.

Select the answer using the code given below :

(e} 1and2only

(b)) 2and 3 only

() 1and8only

d)y 1,2andd

76. Which one of the following stataments is
corract a5 per the Constitution of India?

(0} Inter-State trade and commerce i a
State subjeet under the State List.

(b) Inter-State migration s a State subject
under the Siate List.

(el Inter-State quarantine s a Unon
subject under the Union List.

(dl  Corporstion tax is a State subject under
the State List.

76. Under which of the following Articles of the

Constitution of Indin, has the Supreme Court

of Indin placed the Right to Privacy 7

(al Article 16

(b)  Article 16

(el  Article 18

{d) Artlele 21

KSPC-P-GEPO

77.

(33-A)

Wht sire the duties of the Chief of Defences
Staff (CDS) ps Hend of the Department of
Military Affairs ?

1. Permanent Chairman of Chiofs of Staff
Commities

2.  Exercise military command over the
three Service Chiefi

3. Principal Military Advisor to Defence
Minister on all tri-service matters

Select the carrect answer using the code given
below :

(@) 1,2and8

(by 1and2only
{¢) 2 uand3only
{d) 1and3only

Operations undertaken by the Army towards
upliftment of the local population in remote
areas to include acddressing of their basic
needs 18 called -

(a) Operation Sankalp
(b) Operntion Maitri
{¢) Operation Sadbhavana

(d)  Operation Madad
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79, The longest border between any two countrigs

in the world is between ;

(a) Canndn and the United States of

Americn
(b) 'Chile and Argertina
(¢) China and India
(di Knzakhston and Russinn Fedoration

Which of the following statements abuut the
Ethies Committee in the Lok Babbia wre
varrect 7

1. Initinllyit was'an ad-fwe Committes,

2 Only 8 Member of the Lok Sabha csn
make a complaint reliting to unethical
contluet of a member of the Lok Sabha,

%  This Committes cannot take up any
matter which is sub-judiece.

Seleet the nnswer using the code given below :

fal 1 nand 2 only
{b) '2and3only
(e 1 mnd3only
{d) 1,2and3
KSPC-P-G5PO

81.

B

(35-A)

Conzider the following statements regarding

‘Nari Shakti Vandan Adhiniyam':
1 Provistons will come into effect from the
188 Lok Sabha

2. This will be in force for 15 years after
becoming an Act.

4. There are provisions for the reservation
of seats for Scheduled Castes Women
within the quots reserved for the
Scheduled Castes.

Which of the statements given above are

correct, !

() 1 240nd3

ib) 1 and 2 only
(¢} 2and3only
(d) 1land3only

Which of the following statoments about
‘Exercise Mitrn Shakti-2023" aro correst 7

1. Thit was a joint military exercise
between India and Bangladesh.

2. It commeneed in Aundh (Pune),

3. Joint response during eounter-tercorism
operations was a goal of this pperation.

4. Indian Air Forceé was n pirt of this
exeTeises.

Select the answer using the code given below :

fa) 1,2and3
(b) L 2and4
(¢} 1 3and4
(d) 2 3andd
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RS, A Writ of Prohibition is mn order izsued by the | 85.  With reference to Union Budget, consider the
following statements :

Supreme Court or High Courts to :

{m} =& government officer prohibiting hHim
from taking a particular action.

{b) the Parlisment/Legislative Awembly to
pass # low on Prohibition.

(¢)  the lower court prohibiting continuntion
of procesdings in & case,

(d) the Government prohibiting it from
following nn unconstitutional pdlicy.

86.
B4 Consider the following statemants::
1. It is the Governor of the State who
recognizes and declares any community
of that State as n Scheduled Tribe, 87.

2. A community declared as a Scheduled
Trbe in a State nced not be so in
another State,

Which of the statements given above isfire
rorrier 7

ta} lonly
b} Zonfy
fel Bothlunnd2

{d} Neither 1 nor2

KSPC-P-GSPO (37 =A)

L

2

The Union Finance Minister on bebialfl of
the Prime Minister lays the Annual
Financial Stntoment before both the
Houses of Parliament.

At the Union level, no demand for a grant
enn  be made exeept on the
recommendation of the President of India.

Which of the statements given abowe isfure

correct ?
(m} Ylonly
(b} 2aonly
fe) Bothland2
(d)  Neither ] nor 2

Who of the following is the author of the books
“The India Way” and "Why Bharat Matters™?

(n) Bhupender Yadav

tb)  Nalin Mehia

(2}  Bhoshi Tharvor

(d)  Spbrahmonyam Jaishanloar
Consider the following pairs :

Country Rpasan for being in the

HENm

Argenting | Worst economic erisis

2 |Sudan War between the eountry's
regular army and
paramilitary forces

3. |Turkey Rescinded its membership
of NATO

Hew many of the pairs given above are

correctly matehed 7

(#) Only one pair

(b} Only two pairs

(el All throe poirs

(d)  None of the pairs
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Cansider the following statements :

Statement-d ;
Sumed pipeline is o strategic route for
Persian Gull oi] and naturs! ghs shipments to

Europe.

Statement-I1 :

Sumed pipeline connects the Red Sea with

the Mediterrnnean Sea.

Which one of the following ix correct in

respect of the above statements 7

(n) Both Statement-] mnd Statement-1I are
correct and Statement-l]  explaing
Statement.]

(b) Both Statementl and Stutement-IT are
eotrect, ‘but  Statement-1]  dods nof
explain Statement-1

(¢) Statement-] is correet, but Statement-11
i incorTect

(d) Statement-1 is incorrect, but Statement-11
18 correct

Congidar the Mllowinit statements :

1.  The Red Sea receives very little
precipitation in any form,

2. Nib water entors the Hed Sas from
rivers,

Which of the statements given above isfare
correqt ?

(a) luonly

(b}  2only

fel Both 1 and 2
{d) Neither 1 nor2

According to the Environmental Protection
Agmncy (EPA), which one of the following is
the largest source of solphor dicxide
wmiksions ?

Locomotives using fissil fuels

Ships us=itg foasil fuels

Extraction of metals from ores

Powsr plants using fossil fuels

]
(b)
le)
id)

81.

(39-Aj)

Consider the following statements ;

Statement-l :

There is instability and worsening security
sitpation in the Sahel region.

Statement-I1

There have been military takeoverseoups
d'état in several countries of the Sahel region
in the recent past.

Which one ol the _fullwdng I8 porrect in
respect of the above statements 7

(a) Both Statement-1 and Statement-1I nre
enrrect  and  Stotement-Il  explaine
Statemeni-]

Both Statemont-] and Statement-11 nra
gurreel, hut  Statement-I1 dbes  not
explain Statement-]

Stutemeni-1 ie correct, but Statemont-I1
18 incoFrect

Statmment-1 = ineorreet] but Statomonc:=I1
i correvt

(bl

(e}

(d)

Consider the following statements :

Siaferment-I -
India doe# not import apples from the United
Bistes of Amariea

Steternont-Il:

In Indin, the law prohibits the fmport of

Genoticnlly Modifisd [ood without the

approval of the competent authority.

Which one of the following i# correet in

reapect of the abave statements ?

(ol Both Statemiont-] and Statoment-I1 uare
corpdet  and  Statement-TI  explains
Stutsmint-1

ik Both Statemont-] ond Statement-I1 are

correct, but Statemant-1T does nof explain
Stutempnt-1

(e} Statemont-1 is correet, hul Statement-IT is
ineorrect

{d} Statement-] is incorrect, but Statement-I1
i corract
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With reférencé to the Spesker of the
Lok Sabha, consider the following stntements :

Whils uny resolution for the removal of the
Spaaker of the Lok Sabha s
consideration

. He/She shall not preside.

2 HeShe shall not have the right to speak.

3. HoBhe shall pot be entitled to vote on
the resolution in the first instance,

Which of the statements given above is‘are
correct ?

under

(al 1only
(b 1and 2only
(&) 2and 3 only
(d 1,2and3

With reference to the Indian Parlinment,
consider the following statements :

1. A hill pending in the Lok Sabha iapses
on its dissplution.

2. A hill passed by the Lok Sabha and
periding in the Rajva Sabha lapses on
the dissalution of the Lok Sabha.

8 A bill in regard to which the Presidont
of India ootified hisher intention to
pummon the Houvis to a joint silting
lopses  on  the dissolotion of the
Lok Bubhn.

Which of the statements given above islare

eorrect ?

{a) 1only
b) land2
(e} Bandd
(d)  Jonly

(41=A)

95, With reforence to the Parlinment of India,

consider the following statements ©

1. Prorogation of & House by the President
of Indin does not require the sdvice of
the Council of Ministars,

2 Prorogation of a House is generally done
after the House ie adjourned sine die
but there is no bar to the President of
Indin prorogating the House which is in
soslan,

3,  Dissolution of the Lok Sabha is done by
the President of Indis who, aave in
exceptional circumstances, does s0 on
the ndvice of the Council of Ministen.

Which of the stutements given dbove isfare

vorrect 7

fal 1 aonly

(b} 1and2

el 2andd
id) 3only

Consider the following statements :

Staternens-1 .

The Furopean Parlinment approved The
Net-Zero Industry Act recently.

Staterment-1l :

The European Union intends to achieve
carbon neutrality by 2040 and therelore nims
to develop all of its pwn clean technology by
thai time.

Which one of the fllowing is correet in

respect of the nbove statements ©

(a) Both Stutement-]1 and Statement-11 are
carrect  and  Statement-ll  explains
Statement-]

(b) Both Statement-1 and Statement-I1 are
porrect, but Statement-11 does not expluin
Statemaont-1

(¢) Statement-] iz correct, but Statement-I1 is
incorrect

(d) Siptement-1 i intorrect, but Statement-11
ke onrriet
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Consider the following statements ;

Sinfement-I :

Recently, Venesueln has ochieved o rapid
meovery from  its  economic erisis  and
succesded in preventing its people from
fleeing/emigrating to other countries.

Statement-l1 :

Venezuela Has the world's largest oi] reserves.
Which one of the following i correct in
respect of the above statements 7

{a) Both Statement-l and Btatement-1] are
correct  and  Statement-Il  explains
Statement-I

Both Statement-] and Statement-1l are
correct, but Statement-II does net
expluin Statement-]

Statement-1 is correct, but Statement-11
14 ineorrect

Beatement-1 ia ineorroect, but Statement-11
ia correct

(b}

led

)

With reference to the Digital India Land
Records Modernisation Programme, consider
the following statemonts

. To implement the scheme, the Contral
Governmont provides 100% funding.

2 Under the Scheme, Cadnstral Maps nwre
digitised,

3 An initiative hik béen undortakin o
transliterate the Records of Rights from

local langusge to any of the langunges
recognized by the Constitution of India

Which of the statements given above are
correct !

1 and 2 only
2 and 3.anly
1 and 3 only
1L.2and3

ta)
it
ic
d)

29,

With reference to the ‘Pradhan  Mantri
Surakshit Matritva Abhiyan’, consider the
following stalemants «

1. This scheme gusrantoes n minimum
package of antenatal care services to
wumen in their second and third
trimesters of pregnancy and six months
post-idnlivery health care servico in any
government health facility.

2, Under this scheme, private sedtor
henlth care providers of eoftain
specinlities can volunteer to provide
services at nearby government health
facilities.

Which of the statements given above is/are

corroct ?

(al 1only

(by 2 only

(e} Both 1 and2
{d) Neither 1 nor2

100. With reference to the Pradhan Mantri Shram

(43-A)

Yugi Maan<dhan (PM-SYM) Yojanm, consider

the following statements :

1. The entry age group for snrolment in
the seheme i2 21 to 40 vehry,

2. Age specific tontribution shall be made
by the beneficiary.

3. Each subscriber under the scheme shall
receive o minimum pension of € 3,000
per month after attaining the age of
G0 yonrs.

4. Family pension is applicable 1o the
apouse and unmarried daughtiers.

Whicl of the statements given above isfare

eprrect ?

fal 1,3andd
(b)  2and 3 only
e} Z2only

(dl 1.2andd
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